Anorganische Chemie Tutorium

Reaktionsgleichungen

Reaktionsgleichungen, die wir im Tutorium besprochen haben

Redox:

N203 + Hzo 9 2 HNOZ
N2O4 + H,0 - HNO; + HNOs
2 NO,; + H,0 - HNO, + HNO;

P,0s + 3 H,O - 2 H;PO,

2Li+2H,0-> 2LiOH + H,
2 Na+2H,0—->2NaOH + H,
2K+2H,0 > 2KOH +H,

LiH + H,O = LiOH + H,
NaH + H,0 - NaOH + H,
KH + H,0 - KOH + H,

MgO + H,0 - Mg(OH),
SO; + H,0 = H,S0;
SO3 + HZO - HzSO4

3 Ag +4 HN03 -3 AgN03 + 2Hzo + Oz

Komplex:
Fe** + 6 CN - [Fe(CN)e]*

Fe* + 6 CN > [Fe(CN)e]*
Fe* +6 H,0 = [FE(H20)5]3+

4 Au+ 0, +2 H,0 + 8 CN = 4 [Au(CN),] + 4 OH

Ag* + CI > AgCl + 2 NH; > [Ag(NHs),]Cl
Pt** + 4 HN; - [Pt(NHs)J]*
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Sdure-Base:

H,CO;3 + 2 KOH - K,CO;5 + 2 H,0
NH; + H,O - NH," + OH
NH,Br + KOH - KBr + NH3 + H,O

SH + H,O0 - SH, + OH"
KSH + H:0" = K* + H,0 + HyS
K,S +2 H,O0 - 2 KOH + H,S

KCN + H;0" = K* + H,0 + HCN
2 KCN + H,S0O; - K,;SO3 + 2 HCN

HCOy + H,0 - H,CO; + OH
H;0" + HCO3 > H,0 + H,C0; - 2 H,0 + CO,
(NH,)250.% + 2 KHCO; -> K;SO4 + 2 NH; + H,CO;
(H,0 + CO,)

HI + NaOH - Nal + H,0

Sonstige Reaktionen:

AgNOs + HCl - AgCl + H + NO5’
NH,Cl + KHSO, - KCI + NH;HSO,
NH;Br + KHCO3; - KBr + NH;HCO;
Au + H,0 - reagiert nicht
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